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Solution:

Solution:

1)  In a library there are 90 books. 30 books were given to borrowers. How many 

     books are remaining in the library?

2)  In a zoo there are 50 animals. 30 animals are monkeys. How many animals are 

     not monkeys?

Number of books in a library = ___.

Number of books given to borrowers = ___.

remaining books in the library = ___ - ___ = ___.

Number of animals in the zoo = ___.

Monkeys = ___.

Number of animals other than monkeys = ___ - ___ = ___.

SUBTRACTION

Animals (50)

Books (90)

Word problems subtraction taking as base 10.


